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urpsmauiler (pHEW  SLTOL  [Bleneus el ed
LO(HEMIBET @ehiSeT GUILLILL Flev L HemHHm6N
o Haurh@G OQeweoundser. eefllsrs IBHS
OTeiTenn  BUI6VTSHSHEM60T 6Te0TE
GSBIULIL60TLD.

a. BuwedLdhasid b. miemtemigiey

c. aflewmaagasaianwy d udeaimar

The process by which animals form species - specific
behaviours during a critical period early in life, which
are not easily modified is known as

a) Instinct b) Intelligence

c) Animalismv’ d) Imprinting

Ans:C (May be)

ueTefulled Heval 6leiTLIGI BTG AIHIOTET HMBM6D
FHMeTHemen aleNTHS allflalms Gauiul Geeuth6IosT
AILBISHID DINSlHeND

a.  WeeLmed  Dipfidens

b. Garssrfl Siibmes

C. OLeoriien 9Mlbame v

d.  ognTmewi. opfsms

The report which emphasises that four types of
learning skills should be developed in school
Education.

a. Yashpal Report b. Kothari Report

c. Delor’s Reportv’  d. Sargent Report
Ref: NR IAS ACADEMY'’s Paper I, Psychology
Pg.17

GWHMBUTNe euTulet aTdTalleneT GQFUIGOLITL Igen6
BITDBTE  SIENLPEEBEVTLD

a. e eglialemeny

b. elemmisr egiralener

C. UsHse0 agiailenet

d  9owGss masse adialemer

The child’s reflex of the mouth is called as

a. Rooting reflexv’ b. Moro reflex

c. Grasping reflex d. Stepping reflex

o selpufler &CmGLom@sromibaeir

g Benipd sLLGL aflens sUULLY  clpeold
BarHHHLILBSBSHI

a. OxOFeoaFTI. b. &GymGuomomirs

c. Gamflwmes d. GafGurenL11v
The chromosomes of an individual can be examined

with a chart called as
a. Gesellschaft
c. Chorion

b. Chromomorph

d. Karyotypev’
eretueu o AflwT o MpICHTESH60

BB LI YBETET HL  DIEWIG(PDBEDU

©_(HoUTshd Hipmen ‘BBLISH0 OFWLIed BlensoselT

GTETMBENLDES SHIT.

a. OQueirgden S. Lepd b, A.C. syfteimerdiesst

c. a1 LGy d. S.L. n@yervens)v’

has developed a system of teacher

observation and evaluation which he terms as

‘Instructional Processes’.

a. BenjaminS. Bloom b. A.C. Ornstein

c. Jean Piaget d. S.L. Presseyy’

Ans: D (May rbe)

Lwn@eguiler anBoiliLy Sisleed SHmer euenTadluied

GUhmaHen GelaflliuGeHaId QU H6rT B e 6

Blen60HSH HTMID  GTGRILIGI:

a. [(PeBWTer earFelawieoum (B LihHeub

h. mevar Suss UmaubdY

C. "WeIELFWIOUT hHES (PhHmSU! LIHeULD

d.  sigmLTEl utTiumss CsTewih HHHHEID

LI(HeuLD

According to piaget’s stage of cognitive development,

a child displays ‘object permanence’ in:

a. Formal Operational Stage

b. Sensory Motor Stagev’

c. Pre-Operational Stage

d. Concrete Operational Stage

Ref: NR IAS ACADEMY’s Paper |,

Psychology, Pg.22

enLoWl [BILDL LD6WTL6u&h et euenTadulled @GenmLm

gBUTh GLHmSEH6NeET 2 L6 LB@ o 6nF

GFweouT (HH6eM6d DL BHHSHETMD  HTERILILIEG 60

Gume oP@PseTed SIBWILGHISI

a. afigelgwy b @Geragseaemn

C. Sleolefigbd d. ®ymgs Heenio

The sluggish nature of children in both physical and

mental activities due to the defects in the development

of Central Nervous System indicates:

a. Cretinismv b. Dwarfism

c. Albinism d. Gigantism

Ref: NR IAS ACADEMY'’s Paper I, Psychology
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10.

1.

12.

13.

Pg.14
@ SFflwT SO TENITHEPSESG DIFHSLILIgUITEDT
G&w aleursld, GWF QFwed L Gumes
GWFOFLOUTBHN0 FELUGSSHID CUTIDSH DIGH6s
ufliorend Geualdbsm Beaug

a. osBselsr Sefeno

b. GumAuiesr eumuieons &mmBed

Cc. Gumly ougliuemLufeomer &HBB6L

d. =mmed @ s Cewedour®Y

A teacher engages her learners in a number of group
activities such as group discussion, group projects
etc. The learning dimension this highlights is:

a. Joyful learning

b. Language - guided learning

c. Competition based learning

d. Learning as a social activityv’

Ans: D (May be)

GlBleme0  OUTHL SnmidEhL 6T ChToemBuITEGeuT
I0VEH  THTMBUWTEEUT BLHFH OBTeTEHLD
& (LD B & 60 LD & 6 60 6T 6ot
66 LM HGUITLD.

a. [ILD b. wentiLmesTenLD

c. QuimpssuurGY  d uslLBme

The disposition to behave towards environmental
objects in a positive or negative way is defined as

a. Aptitude b. Attitude

c. Adjustmenty’ d.  Anxiety
SQ3R-e0 @yewimeuz ‘R’ @miiiniGeugi:

a. Recite b. Review

c. Read d. Reflectv’
In SQ3R, second ‘R’ represents:

a. Recite b. Review

c. Read d. Reflectv’

YerpLiledt BLSHengll L6 smeriled 6TemTenIBIS6T OBBILD
FBBISHMET  QHEIGMOHSH  6IIPHID & Bener
I ) [ [V 1)

a.  UWeTuBSHSHe0 b. ugssTUIHEN

C. GsressTuIsed v d wH e

In Bloom’s classes of behaviour, the skill in writing,
using an excellent organisation of ideas and
statements is

a. Application b. Analysis

c. Synthesisv’ d. Evaluation

‘MAN’ eretr3 QFmed ‘RFI” eteu1s @pidalILIBLD eTeuflsd
‘BOY’ atatiB  OQFmeveney  @GmILILSI:

a. GIT b. GTTV
c. IGT d TTI
If “MAN’ is coded as ‘RFI’, then ‘BOY” should be
coded as:
a. GIT b. GTTV
c. IGT d TTI
ugd | -eow ugd l-Ler QUImHSHIS.
UG- ugas-ll

a. HeWI MBH  Beneuor

14.

15.

BB B mesr -l slenlds BameoF
BagmHement
b. iemeouTUD B6UGILD -2.(1p6VGVT  -6MEOLIT
Gamement

C. urremeu  Aflysam d  -3. ysss Hius s
d. mlewtemipiey Garmmen - 4. o9 aueny CFTHmes

&(me
a bcod
A 1 42 3
B 1 23 4
C. 4 32 1v
D. 4 13 2
Part-1 Part -II
a. Hand-eye

co-ordination
b. Fluctuation
of attention -
c. Optical Illusion
d. Intelligence test

1. Block design test

2. Muller - lyer test
3. Book illusion
4. Mirror drawing

apparatus
a bcod
A 1 42 3
B 1 23 4
C. 4 32 1v
D. 4 13 2
Ref: NR 1AS ACADEMY’s Psychology

Material Pg.66

erfidFeulieor GLolDLITL(BLI LK en60H61T60

@ TH OUTHL 6T eBIGRID  QFwWeOLBHH B
GT63TIIZHEN6T ORI UL G510 EDHBEITGT T6 S5 FH6me0t
S MRICENTETE

. | 2IBLISHHSHSH6ETEnID

b. elLrwwpdgsaiamwy

C. GWRGUTL BSHSHEIeNLD

d.  peneliLsHeatentp

In Erickson’s stages of development,

Indicates the child’s interest in seeing how things
work.

a. Generativity b. industryv’

c. Self-absorption d. Initiative

Ans: B (May be)

STONIEG BIDLS OHTGHHUIEL WweTbleupFFEemern
FremiBD  CFweLseienmmsd gBUGBLD  LDTBBEISET r
BoausdHma Senall. LWSLGL Smalulest GuwiT
a. eeasl By eraQauBeoralymiy’

b. amGsrdym

C. e0L&Bm GuGeummibL LT

d.  umel&lym

The machine which is used to record changes in the
autonomic nervous system brought by emotion
provoking stimuli is:

a. Electro Encephalo graphv’

b. Ergograph

c. Sphygmomanometer



16.

17.

18.

19.

20.

21.

d. Polygraph
Bmal  Geudbervevfler miewreamiles GFmHemeuisd
2 GIT6NLMIGLD
a. Ogmeogmym CargHewen LOBMID QFwmB CFTHement
b. Qgmev gnibs GamdHmen WBBID LLF CamHemen
C. Qamed &gmipy GCormmen wLB@ID Gawn
Gangmen v’

d. Qswp Garzmer wBBID ULF CFrHemer
Adult Intelligent Scale of Weschler comprises of:
a. Non verbal and performance test
b. verbal and pictorial test
c. Verbal and performance testv’
d. performance and pictorial test
o Ib(penlul BTFNO  UsTefluler (pHed Hendhams
Bl Hlenere] nbHTeL DI
a. Ozmedelwed Fihs Hlenee,
b. wepwrer Heerey
C. plapey OuTBSs Poaey
d.  yeveigmiTe) FMihs Henee]
When you recall your first day in nursery school you
utilise the
a. Semantic memory b. Procedural memory
c. Episodic memoryv” d. Sensory memory
Ans: C (May be)

Q(h SNBLDI SUIBENSWITEN  @HLD6V
BB SBIeUTUIST CUTHSSHS STEDID (LPLEDLD
Bmga|d CaTLUTLTEGLD.
a. welsGru b. 2 emiugriumuiey
C. oWleysmi d. pLgmgpulwed v’
is a holistic theory whichgleoks
at the individual in context and in a naturalistic:setting.
a. Humanism b. Psycho-analytic
c. cognitivism d. Ethologyv’
(b BTl b LOBOMBIH HULTTET HIT6wIL eD6vLl
Qumpib uTsLd DG LD.
a.  SEH6rmer b. QLageyL v’
C. owwowelem o evp 0. ewalLmesr
The Part of the Neuron which receives messages
from other neurons is
a. Axon b. Dendritev’
c. Myelin Sheath d. Cyton
GLHMBHIEHSHITR  Benenidh s  Camsemeareni
® _(HeUTHEWGIT W
a. Oeuderdeoi
b. w8y wBBID LTS
c. Dr. umiur
d. CwWmBUTeYE GuedeorsY
Children’s Apperception Test was developed by
whom?
a. Weschler b. Murray and Morgan
c. Dr. Bhatia d. Dr. Leopold Bellakv’
Qomf eTeleuTw SiewL Wl QUBBEI, 2 euyliul L g,
Ufibal OQsmeTeniILl Lgl, 2 MUSHHUITETH 6Tt
up . LUl ofl oo 6ot 6T 60T

22.

23.

24.

DI6DLPEHHEVTLD.
a. o enGpréE OmPuiuied
b. @alufued

Cc. Qumy mswsliuBHHaY

d.  QFrBeuTmHeTwed

The study of how language is acquired, perceived,
comprehended and produced is called as

a. Psycholinguistics

b. Phonology

c. Language acquisitionv’

d. Semantics

QUTHSHHIS.

a. el eu Hen Gymd - 1. gewyBambl 21
b. Lirewrm flen Gymb - 2. XYY
C. Loyett Feor Gymd - 3. 19ewyBamdl 18
d. Afdlestedad - 4. XO
a bc d
A 1 2314
B 3 41 2v
C 4 321
D 2 14 3
Match the following
a. Edward’s Syndrome - 1. Trisomy 21
b. Turner’s Syndrome - 2. XYY
c.Down’s Syndrome - 3. Trisomy 18
d. Criminalism -4, X0
a bc d
A1 23 14
By, 3 41 2V
C 43 2 1
D 2ml 4 3

LTS SHIT6w L eVI& &IT 6ol
BlVmIBmET  6HS @B (PBSHBBEL  WOBBID (LT
SIILIIGIID HIGVVTSH HeTeFenF BN L Genguleot
allener6)] 6TEITGVTLD.

a. &Mmm;eL

b. eaglialemer QaweOouT®Y

C. sEaBmeouiBsHsD

d.  werGeupsd

is an involuntary behaviour that
occurs without prior learning and prior experience in
response to stimuli.
a. Learning

c. conditioning
Ans: B (May be)
© (1 LD 6o SL L enoLi L& 61T 63 ‘&M L em 6ot
LIMTEneUWIT6NTES6T  LOBMID  ‘SHeful L & BHHmS
BaBPiBSemL Gl 6% 2 _aHIenDWITET DIV
©_GWIenLOUIGOEVTHSI cTeTLigHenenn GoumiLibhsHs ipiwl
BeoWITsH HeemlD, G

a. eowwpBeneoulllpg g0

b. o sienewiiey

C. D6 @(LDMIGENLOG

d. sa&iwoeyssaimny

b. Reflexv
d. emotion



25.

26.

27.

28.

The inability to differentiate between the real the
ideal, characterized by two mental configurations,
‘imaginary audience’ and ‘personal fable’ is called

a. Decenter b. Intuitiveness
c. Mentaldispositions  d. Ego-Centrismv’
FaBBIB6IT.

1. R.N.A eaeaug fBur plusefs odeod
aaugtad. D.N.A. aaug 19opdEend MG
Busells oifleod eIeTISHTGLD

2. QuBGpTTaelLWbbel FhHHEEndE LOJL

ghBasspmismer aLHd R.N.A. aureng

D.N.A.-uyLeir giemen  Lflwailsvenev

smbp @am of, smpp Bywie sapv

By QB &, &mBB @m Heuml

BOrewiB FMBBIBEDHD FHULTETEN6I

. Oreni(h SFBODISEHD  SHeUBTEIEnN6

Statement:

1. R.N.A. Stands for Ribo nucleic acid and D.N.A

Stands for De-oxy Ribo nucleic acid

2. R.N.A. does not act as an assistant to D.N.A.

for carrying out the genetic code from parents to

cooo

offsprings.

a. Statement (1) is correct and statement (2)
is wrongv’

b. Statement (2) is correct and statement (1) is
worng

c. Both statements are correct

d. Both statements are wrong.

Ans: A (May be)

GTQVIDL] BB HMFSHSH &S H6M6 6T EF S enud
& BUUBSHSHID euenTFS ammTGLOTEN6T FiJdb@&D Sl
a. o fered &yl b. MwrLd aylvy’
C. eowaymuIB &yrnd d. ewswed &rnd
Growth Hormone which controls the development
of bone and tissue is secreted by the:

a. Adrenal Gland b. Pituitary Glandv’
c. Thyroid Gland d. Thymus Gland
SIBQFTT UMTLILLD 6T6I3 OFT6L6m6V  GUIPRISEIULIGUT
a. E.C. Lmedweiv’ b. L.M. GLimpesr
c. GW. QuLimwesr d. S.M. Lireoit

The word ‘Cognitive map’ was put forth by:

a. E.C. Tolmanv’ b. L.M. Terman
c. GW. Terman d. S.M. Turner
Fermlied aufWiTed B HITEWHIL60HM6T Bl HS
o Fab GeugdlIOUT(HeiT

a. GBazmemevest erer0L Byerd

b. o Mereder

c. gfLemLed GBamenevarv’

d. Garemever

The chemical that causes transmission of nerve
impulses across synapse is
a. Cholin esterase b. Adrenaline
c. Acetyl cholinev’ d. Choline

29.

30.

31.

32.

33.

34.

35.

BT (PpH6edsd euevgl enaullenmed SBBIB6STEmTL
@ 2 L edwdsasd OFweoLn®h L6 B & »sulemed
UPGWUTEH 1&aID SHeUITE GHLILIGI:

a. GCuiwenp LWIBS WIHBBLD

b. edmoems LUIBS TBBLD

C. G&IW SMM6L LDTBMLD

d. @meafs &mped WwWIHBLY

If we learn a motor activity with the right hand it
becomes easier on that account to learn that activity
using the left hand. This is known as:

a. Positive transfer  b. Negative transfer

c. Zero transfer d. Bilateral transferv’
Gambervd, GHmHHeT LIBriiGeoGuw mlensoommm
Bws 5 S M &0 Brfluyd &) M 6f
LU BeTengl  eiaiml  BHermT, @hs
o elenmmihgd GUTW eUedevenDemULI o
6160IMENLPS ST,

a. OB FHBeisel

b. Muehs QwmP aipdEse6i

c. Oumgluiwed FHmeiv’

d. Gumnf sWwsILGSHHM FTHHID

Chomsky believed that the child is programmed at
birth with the capacity to master transformational
grammar and calls this innate language capacity as

a.  Verbal Skills

b.. Language Universals

c. Linguistic Competencev
é: Language Acquisition Device
Ansin€ (Maysbe)

SO
QUGVAIGST GJAUT QUTETEWLTS 6TElTEDID LITL 60 Silg S LD
CuUBB  HIT6L:
a. wanBsamev b. ssBTE@IN
C. umpmBTETHY d.  Feusdhsmoenl
Ref: NR IAS ACADEMY’s 8th Tamil Pg.122
QRIS CLBULL WwalsTser, LpaneussT CFThHal
auLBUTH eTemmpd CaTdhal 61(paISFEBTDL?
a. o b. o
C. o @ d o v
‘B’ et aflewatiiguilest EBHSHBTEVSH HeTENLD
QB elener(pBml 6157

a. el Lmesr b. &l Leur

c. alLBLa&iiv d.  al®Geuet

‘euaT @peauemarll QuBBHTEL QUBBEsH UsW
maUIEBID’ 6TeuIll LITIQUIGUT WITT?

a.  SeUmeUWITT b. &gsn

C. umyglwimi d. umyglsneev

Ref: NR IAS ACADEMY’s 10th Tamil Book
Pg.8

allengey, SIFFD, Geugef, wIPFFH (WHedw

QUT(HETH6MNEL  AU(HEUS



36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

a. @roLsdaal b 9B8G&GSCsTLIY
C. BamEGnHeHHe d.  eBiysFesTed

Ref: NR IAS ACADEMY’s 10th Tamil, Pg.81
FLBF QFmevamevd BT (BLIIgDHS.

a o glearam v b. o _awGsu

C. eTalien d. gar

Ref: NR IAS ACADEMY’s 6th Tamil, Pg.84

@ GaTLfled W, 6Igl, eTeweu, WITEUT 6l6iTanID
alleméh HEhdh @G almlLwns el GFTedG6w

- o6
a. Qewru@GumemeT b, LweNanew
c. eeuruwiv’ d.  Gguielenen

Ref: NR IAS ACADEMY’s 5th Tamil, Pg.61
HmEGmelled aThHemen BUIeoH6T 2 6iTermen?

a. 3 b. 9v

c. 4 d 6

Ref: NR IAS ACADEMY’s 10th Book, Pg.8
wpuwied “Geueitene GleuGamOTer AHhHHI. B eleiTern
BT FOFT60 6IalIMBMUIF FTHSHH!?

a. Gmrfeneur b. erg@feneur

c. Qamluflenewv’ d.  Gzrfeent

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.21
UNGHOTH HMeVEHT ‘@ WIT HelgF QFDGIMA’ eTenild
s Booymw 6hh DSed CeuenulLmr?

a.  @reGurged b. Qepsipy

C. wellb6sTy d. ewsHal

Ref: NR IAS ACADEMY’s 10th Tamil Pg.21
alenerowFsd Gamevemevs OFifley GFuis.

a. mLb@ Oy b pLHS seim

C. pLEPOB STevern 0. LTS GOy
usoauens o ulliTsefer uUflewrmd  euenidelenul
alfleurdd gmmid evdbHuld 61?7

a. Sopaurgswv b. Gsaumyib

C. SmwpbAHIb d.  Guilwygmemnd

Ref: NR IAS ACADEMY’s 10th Tamil Pg.160
ol lgesT  (1pssT Meulm Gameulil L e, -@&0HTLMed
MeUT 616U

a. @a@Ompm Ourgs Garedy

b. e Gurml ueIGWTH

C. oalamF GFmed

d.  oueeuwT

Ref: NR IAS ACADEMY’s 10th Tamil Pg.79
uflFloms  HmeVEhITEL  “‘QIFSHML  MHUDH S
QUGLEVTENT  6T6STmI  LIMITL L LILIL L 6ufT

a. sewiumenl GCapflasit

b. &mws ®mraeTY

C. gml. Gagminietener

d. @omgle a6

Ref: NR IAS ACADEMY’s 8th Tamil Pg.9
BIT6LH6NT HalHSI060 DleiTem GoucwiBld - Send
Cpradsh HODH udud i Ceuemt(BLD eTaTEnID
uTL60 eufleemer  6T(DZHUIGUT:

a. Oeu BToedmISeITT

b. & ssdgrapsay

46.

47.

48.

49.

50.

51.

52.

53.

C. SHonlledd O _60BHBTH60

d.  smm uryd

Ref: NR IAS ACADEMY'’s 8th Tamil Pg.24

Bm HoWBEHHGD GUTHIUTET (Wewmll GLWIT

aI&1?

a. FTHHe b. gm5g)

C. HHws d. wéser

“FIO6 2 _eudlar (pHeoEITL, pd&HSHOIDTH” eTeitsI

FapleuiT SLEUMT.

a. Gzeu Gpwll umeuTemITY

b. o .Geu smApTsHUIWIT

C. JFrsmy Geusvertit

d. sdey Geusveni

Ref: NR IAS ACADEMY'’s 5th Tamil Pg.12

LeSteupld GHTL TH6MMed alsLel6aID WG Bl HmdHs

Cabal 61,

a. elpeuTulgdh QML

b. elwmBame alemeanpBens SIGHH

C. I, 6IFH a@Ib &L HFOFTBHMT SIBHSHI

d. @&y rbm elomaasssda ey

Ref: NR IAS ACADEMY’s 10th Tamil Pg.143

par@Ted &sBEmer. HOHTLT o 6wl b

LG OLIWIT:

a. SHSHTUTG GLwIT

b. smweanrg Guwiv

C. O&meveuT@ - OILiuiT

d. srefuimg  Guuir

Ref: NR IAS ACADEMY’s 9th Tamil Pg.46

SMNHGT Be0HHEID FnMID HIT6L:

A, EBLOUTHeT OleuesTUT LOTEN6D

h. smiems

C. Qs  allendswY

d.  Baamed

Ref: NR IAS ACADEMY’s 11th Tamil Pg.61

UBmeaIEaT elevend BUTHISH ST  STT6ENILD
SAGLD.

B IeL(HEHHLD

o euiemeud Bslg

UGeuBleney LMHBBL v

d. s1hseT SIPfeusHTed

Ref: NR IAS ACADEMY’s 6th Tamil Pg.10

piler eubs BIOTUAL Lreluyb

&TeleT 6Ub®H SHIHBISN  LPEMLUJLD

Cupsramid eufleeT G CUBB Bevddwib.

a. uflumLed b. ugdBmiugg

c. ulgemiuremey d.  QUIGBBITHBBIILDL

Ref: NR IAS ACADEMY’s 10th Tamil Pg.130

SOPSSHSH 60 eTPILILLL @ Wgone (pSHBESTLILD

IS 616N 17

a.  SHmalevelysbanT opemrmer Gsmuisd

b. wmoeveod Apus Csmuied

C. gy el Fuiboest Gsmeailsd

d. sehameyi FmpayeLwrt Gamalledv’

Ref: NR IAS ACADEMY's 5th Tamil Pg.18

oo



54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

SHetewld  aflenenumeueneoTu|d  GlLwIT
CemRepTLmysh BsiTey GFUIs.

a. OoaSengd HetGL 6l

b. QsaiCmemers urtgsTwTY

C. OaanSenoll LTTSHSTUIT
d. Ogeamremeid BB 6T
yewri & Flufled  eu@mO o
o WiTEQwUWIWTE  BHHSHTe0
Qamevev Geauemt(BLD.

a. 2. ult WwsHe b. Quu g

C. e uiir GQuui upxed d. Gouiuis

Ref: NR IAS ACADEMY’s 8th Tamil Pg.146
‘&M IguWenssHe0’ eetip oJLg OHTLflesr GUITmHel
eT6sTe0T?

a. sl Guaigseo

b. GuargdmdhmHed

c. W@swrasl Buazsedy

d. oGt Buaiged

Ref: NR IAS ACADEMY’s 9th Tamil Pg.122
‘epmIdleL’ eTallaIMmBE (HBIUSMBE FTTHHHI?

a. oy b. yev

C. Qg d. Qamg

Ref: NR IAS ACADEMY’s 5th Tamil Pg.66
HPHBTE@ID  SNeNETLOTLHEH6IT QUIT(HHSHTSH G6iTH.
a. Gamm 2_ewr b. wpib Heor

c. Gameod Gur®Yy d. & apl®

Ref: NR IAS ACADEMY'’s 7th Tamil Pg.49

BB BT HH DIWIMIHMBSH CHTHUSTL CHTEHIWID

6 B6ITe6I

TS I
6160 F

(1Y

61(LD & Bl H6IT:
a. &, ml b. & b
C. L, ewr d. & Y

Ref: NR IAS ACADEMY’s 9th Tamil Pg.21

Waem Fraemen (PpHOeVRHSH DITOITHSH HBD

Brewi LMD qdWHH @IBlars CHTHLUS
eTeILI(HLD.

a. @man agmsYy b QumPiy asme

C. QB CIHIMD d oo asHms

Ref: NR IAS ACADEMY’s 9th Tamil Pg.216

ENGLISH

Bring out the figure of speech used in the given lines:
“Then, what gems would we see? Perhaps a beautiful
heart”

A) Hyperbole B) Metaphor v

C) Antithesis D) Oxymoron

The words ‘yours faithfully’ are the ....................
of a letter

A) Head B) Salutation

C) Superscription D) Subscription v/
Ref: NR IAS ACADEMY’s 6th-10th Material -
Vol-2 Pg.15

Pick out the “palindrome’ word

A) Malayalam v B) Precious

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

C) Victim D) Telugu

Use an appropriate word to fill in the blank
Grievances cannot be redressed.................. they are
known

A) as B) because

C) that D) unless v

Ref: NR IAS ACADEMY’s 6 to 10 English
Extra Material Volume-1, Page no. 62
Identify the correct dictionary sequence

A) ornamental B) originate

C) original D) ornithology
A) ab,cd B) db,a.c

C) bcad D) cb,ad v

The words ‘stationary” and “stationery” are called
A) Synonyms B) Antonyms

C) Hornonyms D) Homophonesv’
Identify the sentence according to its king:

“This lesson is interesting’

A) statementv’ B) interrogative

C) exclamatory D) imperative

Frame a question for the following sentence

There are fifteen players in the team.

A) Flow much players are there in the team?

B) How long players are there in the team?

C) How many players are there in the team?v’
D) How far players are there i n the team?

Find out the sentence with the appropriate collective
noun.

A) The,farmer has a pack of cows

B) ~They sawsa school of lions

C) A flocksof birds flew in the skyv’

D) " Acherd of:fish swam in the tank

Ref: NR IAS ACADEMY’s 6-10th Material 2 -
Pg2

Ref: NR IAS ACADEMY’s 6-10th Material 1 -
Pg85

Trees give fruits to us year after year.

Choose the correct sentence pattern.

A) SVIODOA B) SVDOIOAY

C) SVOCA D) ASVDOIO
*‘Sombre’, ‘melancholy’, “grieving’, *‘mourn’ - These
words describe the feeling of ................

A) sadnessv’ B) panic

C) delight D) worry

Ref: NR IAS ACADEMY’s 6 to 10 English
extra materails Volume 1 page no. 84

This book is your book

The underlined word can be replaced by

A) yoursv B) yours’

C) your book D) vyour’s book
Complete the following sentence with the correct
form of adjective

Mala is..........cceennen. than Kannan

A) youngerv’ B) young



74.

75.

76.

17.

78.

79.

80.

81

82.

83.

84.

C) ol D) youngest
Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 74

A) grunts B) squeaks

C) neighsv D) croaks

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 2
Who is a ‘Jaywalker’?

A) A pedeatrian who walks slowly

B) A pedestrian who ignores
regulationsv’

C) A pedestrian who walks fast

D) A pedestrian who obeys traffic regulations.
Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no.79

Which one of the following words is similar in
meaning to KINDLED
A) ugly

C) awakenedv

Latha started the quarrel
Here the underlined verb is

A) transitivev’

B) intransitive

C) both intransitive and transitive

D) none of the above

Identify the plural which is not apophonic

A) feet B) geese

C) fishv’ D) men

If “‘ox’ changes an ‘oxen’ then how does thesword
‘staff’ change?

traffic

B) Awicward
D) untidy

A) staffs B) staffes

C) staves D) staffv’

Which one of the following words is wrongly spelt?
A) giggled B) evasivlyv

C) disperse D) dolted

I WasS......ccoeennnn when | was hit on my head.

A) jubilant B) felt

C) scared D) stunnedv’

I am your teacher..............
Fill in the blank with correct question tag.

A) amn’t|? B) am I?

C) aren’t 1?v D) won’t I?

What is another name for the ‘study of languages’?
A) philologyv B) petrology

C) phytology D) philosophy

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no. 17

In a debate the words ‘At the outset............ i
for

A) introducing the topicv’

B) Givingexamples

C) Giving reasons

D) Summingup

85.

86.

87.

88.

89.

90.

91

92.

Asoka was a wise king

In this sentence Asoka iS @ ................ noun, and
Kingisa ......ccoeun. noun

A) Common and proper

B) Proper and commonvy’

C) Proper and collective

D) Common and Abstract

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 1 page no. 60

How many syllables are there in the word
‘competition’?

A) Three B) Four v

C) Five D) Two

If it had rained well, the farmers............ccovvvun..
happy

Choose the correct clause.

A) will have been

B) would be

C) would have been v/

D) would not be

Writing “Well - boiled icicle” instead of ‘well - oiled
bicycle’ is an example of”

A) Malapropism B) Spoonerism v/

C) Euphemism D) Archaism

Ref: NR IAS ACADEMY’s 6th - 10th Material

2, Pg.17

Fill in the blank with the suitable Homophone
Neem Leaves are used t0 ...........cooeeveennns skin
diseases

A) hale B) heel

C) gheal v D) hail

According to the place and manner of articulation
the underlined consonant sound in the word gas falls
under:

A) nasal B) lateral

C) plosive D) fricative v/

Ref: NR IAS ACADEMY’s 6 to 10 English
extra metrails volume 2 page no.19

MATHS

oTemT 59532-601 LUy B FH(HHHHBHMETer GHmymu
(107 )1 [

a) 59000 b) 59500

c) 60000 Vv d) 59600

The number of 59532 rounded off to the nearest
thousand is

a) 59000 b) 59500

c) 60000 Vv d) 59600

18, 12, 51, 32, 106, 92, 58 eiasi3  afeuymicmeriest
BLBlemeo oI

a) 106 b) 51 v

c) 92 d) 42

The median of 18, 12, 51, 32, 106, 92, 58 is




93.

94.

95.

96.

a) 106
c) 92

b) 51 v
d) 42

3
@@ STeugd 1 wewll GHIsHae0 g G&.15. o wyb

1
QUTTHMGH!  6TeuT60 25 BT &HEHdHG LIBE

DISHBTOUTHHNGH ©_WTID vvevrererrrereenens

6
a) E@E.Lﬁ b) 30 Q.
c) 35 Qg.f d) 36 Qg5 v

3
If a plant grows 5 cm in an hour, then its height
1 :

after ZE days is

o b) 30
a) 10 cm ) cm
c) 35cm d) 36 cm v

BIesIe GUIT QsmemiL e @ (palest gma auLOT6ID
610.25. prmeoveufled @eui &uwaled®mb sl
alevdwiller, &gmam  eugpomend  X650.75  eTasilen,
allevdlw BLMeT aUHLDTEILD

a) T488.25 b) T488.75 v

c) 479.75 d) 489.25

The average monthly income of a four member group
is ¥610.25. When one member leaves this group,
the average income becomes I650.75. The salary.
of the member who left the group is

a) T488.25 b) T488.75 v

c) R479.75 d) 489.25
S ‘J(L036><0J72><0.049 B

AL SIS ) 042 0.09%x0.08

a) 2.7 b) 27

c) 3.1 d 21 Vv

Fid the value of \/0.036x0.72x0.049_

e e Vatte O\ 0.04x0.09x0.08 ~

a) 2.7 b) 27

c) 3.1 d 21 Vv

B etemidement WHGUIH GuT.eu. 2 WBBID WFSmI
Qum. 28 eT6li®. @hH 6lewl 4 6Iied  LoBOMBTIH
616U 616016017

a) 20 b) 16

c) 18 d) 14 v

The H.C.F and L.C.M of two numbers are 2 and
28, respectively. If one number is 4, then find the
other number.

a) 20 b) 16

97.

98.

99.

c) 18 d 14 v
2

2-60 61 SHEME §-&36ﬁ o _siTeren?

a) 5 b) 2

c) 3V d) 6

2
How many § ‘s are there in 2?

a) 5 b) 2

c) 3V d) 6

® GCarliyer Warer BreiG AGDH 6l en
GamemtmiBe 4X BmID 3X+5 e1afiled X-631 FHLIemLih
BTGB,

a) 30° b) 35°

c) 25°V d) 20°

Two linear adjacent angles on a line are 4x and
3x+5. Find the value of x.

a) 30° b) 35°

c) 25°V d) 20°

@ HCeorArmisd eTdhHemer L6060HTTD o 6iTenes?
a) 108v b) 10°

c) 10° d) 10

How many milligrams are there in a kilogram?

a) 108v b) 10°

c) 102 d)- 10

100. @@ sevy alflinier BHerid, b DIMBUIGT BeNThHmd

1 1
el 25 15 GHoBey. HeJ eufilINeT Hermd 32 ]
6T DIEHMBUIGHT [HEND ...oovveeeee..

a) 518 b) 575 8 v
c) 550 1S d) 6

1
The length of a carpet is 2 5 m less than the

length of the room. If the length of the carpet is

1
BZ m, then the length of the room is
a) 5m b) 575 m v
c) 550m d) 6m

101. giemyaul L augaleomer misTalem b 21 1. ¢

BULBSG I5 aisb HBG FBBIGM Simnds

UG CF608)Y ..o
a) 1040 b) 840
c) Tao v d) 640

A park is in the shape of a semi circle with radius
21m. Then the cost of fencing it at the rate 5 per
metre is

a) <1040

c) T40 vV

b) 840
d) 640

102.@m &t 25 e Li GQuiGymeded, 150 &l.iS. @myid



103.

104.

a) ¥ 14,500 ¥ b) ¥ 14,000

c) I 14,670 d) 15,000
105.30-8@1>, 60-6GID Benl_uled 2616 LIBT 6T6wmideIT 6

6T 6U3T 60011 &b 61 &b:

a) 8 b) 5

c) 6 d 7 v

106.

107.

108.

GFeveuid eTetBTe, 30 a9 LT QUL Gymeded GlFsoeVId

CBHTENEIRY eecvevvevrerereennes
a) 160 km b) 190 km
c) 180 km v d) 200 km

If a car can go 150 km with 25 litres of petrol, then
the distance that can be travelled with 30 litres of

petrol is
a) 160 km b) 190 km
c) 180 km v d) 200 km

@b BUT SHITLID  _6Tem LenishaHe0 Lpeiiled e
UBlendd O@Temi(h @b CUTHemeT  eITBIGHH BT,
SIOuThefer aleneo 100 eraied, SeuflOHHS
Qg  LiewILb:

a) 1000 b) ¥ 300 v

c) T 3000 d) ¥ 100

To buy a product, a person spends one third of his
money. If he bought the product for X100, then the
original amount of money he had is :

a) 1000 b) ¥ 300 v

c) T 3000 d) ¥ 100

Q0 QFTmedsT S0 Guily 8% wadlys g (H
afl Gaisa BT alamev T 15,660. WIS
LB oufl Bl oiHen allewev ereiTen?

a) ¥ 14,500 v b) ¥ 14,000

c) T 14,670 d) ¥ 15,000

Cost of a T.V. set including VAT at 8% is X

15,660. Find the price before including VAT

The number of prime numbers that lie in between
30 and 60.

a) 8 b) 5

c) 6 d 7 v

&6 CardBaHslILL (BeTeneuBled HeflL L i

b) Gamend

d) aaibyy

The odd one in the following is

a) Cylinder b) Sphere

c) Circle d) Cone

o | Garewimisellal mBHe0 360° QamewiL
WML 2 D)

a) mImaeyn v b) waBsmewiid

C) omEIGHTewID d) opmGsTemD

A polygon, the sum of whose interior angles is
equal to 360° is called:

a) quadrilateral v b) triangle

C) pentagon d) hexagon
ofevdbs sl Quilw eexTeniBGD, SLfevHs
Wss dAPw eemreniBElL SenLBGuw o siterm
alGFHwregd

a) 8,99,998 b) 9.89,999

c) 8,99,999 Vv d) 1,00,999

The difference between the greatest six digit number
and the smallest six digit number is

a) 8,99,998 b) 9.89,999

c) 8,99,999 Vv d) 1,00,999

109. @ au@liigieen 10 wremieuiseien gymafl o wiyib

166 Q&F.15. 61601d HEWISHLLILILL FHI. HBEUCOHENETEF
FRUTTSGLEUTSEI @ WAL 150 GF.15. aaHBG
udeurs 160 QF.15 e1er HoupTaed GBIILILLILLL i
a1l HewTBLIgHSILL L &, etefied Fiflwimer gyma
2 WD ST,

a) 175Gg.8 b) 185 Q.6

c) 165 Qg v d) 155 Q.8

The average height of 10 students in a class was
calculated as 166 cm. On verification it was found
that one reading was wrongly recorded as 160 cm
instead of 150 cm. Then the correct mean height
is:

a) 175cm

c) 165cm v

b) 185cm
d) 155cm

110.@ wWaleuawiguilar afleweo 1500  erer @I

GNGEILL BeiTengl. BFameT <1350-6@& alBpTed
H6NEHLIG FHaIHLD 6T60T6017

a) 15% b) 12%

c) 10% v d) 11%

A Bicycle marked at %1500 is sold for ¥1350. What
is the percentage of discount?

ay 15% b) 12%

c) 1% v d) 11%
1115 ?-a'n 12%

a) 3 b) 4

c) 2v d s

12% of @ is

3 1S

a) 3 b) 4

c) 2v d) s
112, 0s5F HPlw LG eteut:

a) 1 b) 2

c) 4 vV d 6

The smallest composite number is

a) 1 b) 2

c) 4 vV d 6

113. 9 GumbaHed (IPH60  aUTTSH B0

(5.27,432-1D
BOrewILTaIZEl aUMIHH6e0 @h.16,758-D  QUGeoTHBSI.
WPHO UMTHSHIL T QUILIHMHUIGO Gl Teaug)
AMTSHFHET G0 616166 (FHemMma,|?
a) T 9,674 b) T 8,674
c) ¥ 10,674 vV d) T 12,674
In a town bus 27,432 was collected in the first week
and 16,758 was collected in the second week. By
how much was the collection amount less in the sec-



ond week compared to the first week?
a) T 9,674

b) T 8,674

c) ¥ 10,674 vV

d) T 12,674

114.QeuelF QFeiousdsAHear ugluene 360 &.15. o 6T

115.

116.

117.

118.

CFaleuass s ar UgliueTe 280 &.15. @elaldm
CFalauaBRISEHSGHD GBoLulled Frrer uUTms
® 6lTeNgl. LITenHUNeST LFLILIGT6 6T6dTenr?

a) 80 m v

b) 90 m?

c) 100 nv

d 70 m?

The area of outer rectangle is 360m?. The area of
inner rectangle is 280m2. The two rectangles have a
uniform pathyway between them. The area of the
pathyway is:

a) 80 m v

b) 90 m?

c) 100 nv

d 70 m?

Qb GSUHMHHG 200 1W.e0. uted aisd 40
GWHMGHHeT OCaTew L au@GLILled 660 60MSH
GHMHBEHHGID CHemeuwmer LTeS6m O6me]
b) 11l

c) 12l d) 8l v

If 200 ml of milk is required for a child, then the
quantity of milk required for a class containing 40
children is

a) 10l b) 11l

c) 12l d) 8l v

9 Q.15 UBD SleTalelTeN HIFHITHH6L 3 GF.15.
UbS SI6N66ITeN  HEIFHITRIG6T 61556060 !

a) 9 b) 54

c) 271 v d) 18

How many cubes of side 3 cm are in a cube of
side 9 cm?

a) 9 b) 54
c) 271V d) 18
20, 25, 21 ... , 14, 15 alesane wsbh
Bevemev elelled eNBLILL  6T6mT:
a) 20 b) 25
c) 30 Vv d) 15

If the data 20, 25, 21, __, 14, 15 has no mode,
then the missing number is:

a) 20 b) 25

c) 30 v d) 15

(32+ 32)x (5% + 12%)-ai1 euidaelpeld =
a) 45 b) 55

c) 75 d) 65 v

The square root of (32 + 3%) x (5% + 12%) =
a) 45 b) 55

c) 75 d) 65 v

119

L1000 LT =

a) 1 &l

b) 0.1 &8 v
c) 0.01 &.f

d) 0.001 &
100 metre =

a) 1km

b) 0.1 km v
c) 0.01km

d) 0.001km

120.Gayest alengey elewiy GFaiener OFes F6ded bl

121

122.

123.

22.10 wemild@Gl UBLUL G woIbETeT 2.50 1ewildhE
Bgevld OFaHIBLHHHI 6lefled alewig gloul GBI
67601601 ?

a) 6hr40m

b) 4hr40mv

c) 3hr40m

d) 7hrd40m

Cheran Express Train departed from Chennai
central at 22.10 hrs and reached Salem at 2.50 hrs
the next day. Then the running time of the train is
what?

a) 6hr40m

b) 4hr40mv

c) 3hr40m

d) 7hr40m

Gdoe omelws /EVS

. BODETLIged g1 L Goevenal @ISSILL L SHLe{H
A) (1983 B) 1984

C) 1985 D) 1986v

The upper house in Tamil Nadu was abolished in the
year:

A) 1983 B) 1984

C) 1985 D) 1986

NR IAS ACADEMY’s Ref: 6th to 10th Civics
and Economics Pg.64

30 prisem @@ 15 eum. CFL elends@ Byeyd
usID erfujd CuTEH BFevaITEGLD SIBMB6L
A) 3888>10°ap60 B) 10.8 wefl v

C) 38.88 X106 weur. D) 108 uyeii”

The energy consumed by a 15 watt CFL lamp
switched on day and night for 30 days is equal to

B) 10.8 unitvy’

C) 38.88 X 106watt D) 108 unit

giwrer almLemwsd BCHTHESMH

a) wules@l BGuTTamal aIPBIEWIGIGET LUl

b) euesFed ufa eupmduieuet Heoedwl GHTL 6T
C) Gouamnouwiaysb@ll Lfawids CaTBHHeue GLBT
d) oBCaTeE TTRWISMmS IPBIBLICIET aIcL6T60

A) a, b sflwreng B) b,c sfwmerg



124.

C) b,d seumpreigi D) ac seaupraigy

Choose the correct option:

a) Aai gave a Shawl to protect a peacock from
exposure to cold.

b) Nalliya Kodan helped people who came to him

for help in the forest.

Pegan gave his horse to Iravalas.

Valvil Oari gave his Kingdom to the artists.

A) aand b correct B) b and c correct

C) banddwrong D) aand ¢ wrongv’

Ref: NR IAS ACADEMY’s Tamil Extra Notes,

Pg.39

urgatafl.  oenafll 1960 o afem  Lilifleyaerflen

67 605T 6u0T &b 6 &b

c)
d)

A) 32 B) 100
C) 180v D) 212
The number of divisions on the Fahrenheit Scale are:
A) 32 B) 100
C) 180v D) 212

Ref: NR IAS ACADEMY'’s 6th-10th Science
Extra Material Pg.12

125. feitou@pid  eureUTBBI  HBDeyBemer Filuimer  SHTev

126.

ouflenaliLg  Hewrfs.

a) Ogenfl GFenym FibLieuld

b) &L wpry Suissid

C) OeusitenenuiBar GalefBuip Suibsid

d) dourus seusld

A)a b c d

B)d a b v

C)c d b a

D) b d a ¢

Identify the correct chronological order in whieh the
following historical events occurred?

A) Chauri Chaura Incident

B) Civil Disobedience Movement

C) Quit India Movement

D) Sepoy Mutiny

A)a b c d

B)d a b v

C)c d b a

D) b d a ¢

@pswreallel o FFpFH LB [bDHUSD ST
BWOUeT...........

A) 10 SImIFFTH6I

B) umymenwes o minlermseir

C) dgzw whH

D) eywurss Smeveuiv’

In India, Supreme Court Judges are appointed by
the

A) Cabinet Ministers
Parliament

C) Prime Minister D) Presidentv’

Ref: NR IAS ACADEMY s Civics and Economics
Pg.58

B) Members of

11

127.

128.

JreWFLT o mIITenTeHeme LIGHaldbameuld

A) 5 euBLEIHET B) 6 eumpLmseamv

C) 7 oumLmimar D) 8 eupLmibeir

The members of the Rajya Sabha are elected for a
term of:

A) 5 Years B) 6 Yearsv’
C) 7 Years D) 8 Years
Ref: NR IAS ACADEMY’s Civics and

Economics Pg.55

CFehdulenr OBIGLIWIT SLSLD.
a.  QENJRIBTUTS b. QzemesTuTd

C. ABSHITUTS d. urgegmurg v’
The other name of Ginjee is

a. Aurangabad b. Daulathabad

c. Hyderabad d. Badushabadv’
Ref: NR 1AS ACADEMY’s 5th Social,

129.Bauamevdsamyd BHeafibseln elaiLmel:

130.

131.

132. 9119 Beurmiom

a. @aeumssD GFUILID Hpenenl wl Guest
b. BeniGumesd GFUIUID HBETBB  SL6uT

C. @anQu@pssd Gauybd SHpems GCuemv
d. BeniGu®mdsD CFUIUD HBeEenLul e
Worker bees are:

a. Fertile Females

b. Sterile Males

c. Sterile Femalesv’

d. Fertile IMales

Ref: NR TAS ACADEMY’s 6th -10th Science
Extra Points, Pg.34

BphHuwiteemen (Weleplalli] Senl msg QFuiwieb
afl gmpew eruflet pfl  Flewmufled SiemL & e bd
YRBGIHBEG DFHBMD OBTBHS FLLD 6157
A) ‘Q@UBGIpmB FULID

B) Gpemeo &L LbY

C) ®pdhu s LD

D) el&@umilwm waryreniuler oinfobams

The Act which empowered the British to arrest
anyone without warrant and trial was?

A) Regulating Act

B) Rowlatt Actv’

C) Government of India Act

D) Queen Victoria’s Proclamation

Ref: NR IAS ACADEMY’s 6th -10th History,
Pg.122

@bs &SrUU  BTTOMBB  WLBBID [BTEND 2 _eiTen
ariiwns  GFwsoLIBGHMBSI.

A) g B) engymui®

C) o Mered D) &eveSyed

This gland is exocrine and endocrine in function:
A) Pituitary B) Thyroid

C) Adrenal D) Pancreas v/

Ref: NR IAS ACADEMY’s 10th Science Pg.45
SO0 eaflenL: SenewIwd 6TQTH  6UbSH (HdH S
GouamiBLD.

garm UBmICmTul urTsHls @



A) mieovyuiyed B) &®ms6swiby

C) Pewpt pgdasst D) o meredv’
Adenoma is a type of cancer that affects the
A) Lungs B) Cartilage

C) Lymph Nodes D) Adrenalv’

Ref: NR IAS ACADEMY’s 8th Science Pg.29

133. Opevsl_(Bid BFaued LGHenwId eI wir?

A) siteted amyTes B) siieied GabriGuedy’
C) s&medenn musgest D) 1edh8peut
Nerkattum Seval was captured by whom?

A) Col. Horon B) Col. Campbellv’
C) ColinJackson D) Puli Thevar

Ref: NR IAS ACADEMY’s 12th History Pg.50

134. QuT(rSHBI5.

a. oGwmger + LDEuTED i. Ueens stu1Ed

6119 5360

b. wemiQemewIenem + BT . STUIFS 6UgHHE0
C. SeLHABTEL + BT . UBSBIBLOTHE0
d. Queder + GLmaeler V. flens Liemed

a b c d
A (iv) (i) (i) (i)
B (i) (iv) (i) (i)
C (iv) (i) (@) (i)
D (i) (iv) (i) (I)v
Match the following
a. lodine + Sand 1. fractional distillation
b. Kerosene + Water ii. distillation
c. Alcohol + Water  iii. Sublimation
d. Benzene + Toluene iv. separating funnel

a b ¢ d
A (iv) (i) (i) (i)
B (i) (iv) (i) (i)
C (iv) (i) (@) (i)
D (i) (iv) (ii)) (I)v
Ref: NR IAS ACADEMY’s Chemistry

Volumel, Pg.68

135. 553510 HewiBLIgHEUL L HTeD 6157

A) yvw smeTewY B) umpw SBBTD
C) @&mus smeold D) Ggby &meoid
Invention of wheel took place in which of the
following Ages:

A) New stone agev’ B) Old stone age

C) Iron age D) Copper age

NR IAS ACADEMY'’s Ref: 6th History Pg.2

136. s1@aromeroliwim  &BEHed GLIHIDGETR] ST ILIBLD

6UTU |5 61TIT6U 60T:

a. eOBLIMET WBBID SLdHerdege

b. ewpLrmer wBmId anfeduid

C. WAL J6 LOBMID WHLTEI60T

d. eamljyme wH@w afelwby’

The gases mainly found in the exosphere layer are:
a. Nitrogen and Oxygen

12

137.

138.

139.

140.

141.

b. Nitrogen and Helium

c. Hydrogen and Nitrogen

d. Hydrogen and Heliumv’

Ref: NR IAS ACADEMY’s Geography Pg.21
UT@BIWITET  WTHeDL W &TeuHHe0  BbSHWmalng
oUbSTT?

A) wpseomd sHAT GLIST

B) @ewiLmbd spdy GUSTY

C) waembd Wy GUST

D) &reimbd swsHsly GSUST

Fa-hien visited India during the period of:

A) Chandra Gupta |

B) Chandra Gupta Il1v/

C) Samudra Gupta |

D) Samudra Gupta ll

Ref: NR IAS ACADEMY’s 6th History Pg.20
Gamenase @fwemensd &Bpl Swm@wCurgl,
BamEnd@ld Gilwad@d e Ul L FTifuwsd
alenauller Heitenio

A) Blewev Weiiailuied alleng

B) eww Gprég ealmey

C) &mps alos

D) ewwow elevsg olang

When a planet revolves around the Sun, the
gravitational force of attraction between them
provides:

A) Electro Static Force

B) Centripetal Forcev’

€) Magnetic Force

D) «Centrifugal Force

NR IAS AGADEMY’s Science Extra Points
Pg.16

Beneouient eufluwins meny BHrmalwms GeueMGuIB®ID

A)  seundlsse0 B) wynaiedGyageiv’
C) q@alFGaibans D) &GwrLradlerd

The process by which a plant loses water through
its leaves is called
A) Respiration

C) Photosynthesis

B) Transpirationv’
D) Chemotaxis

Ref: NR IAS ACADEMY’s Last Class
Revision

amaialll] yUosUULB ST LWl Uubs H)
GUGMIWILILIHEUGDGL. ..............

A) QFRIGHSH QIEDTLIL BIH6IT

B) anaieuy) euenyuLmiseivY’

C) BuBms eIETLILBIG6IT

D) spdlwed euenyLLmisei

Maps created by using aerial photographs are called

__ maps.

A) Orthophoto B) Aerial photov’

C) Physical D) Political

1950-gu1b SewIB 2 FFHLHIOSBHHD @(H HENGVEHLD

paUFH 2 UL aHsmal bIHUHEHen G



142.

143.

144.

145.

QUIBSHH 60T ?
a. 8 pHudaeiv b. 16 paudse
C. 24 pHudmenr d. 26 pHuHsei

In 1950, our Supreme Court consisted of how many
judges including the Chief Justice?

a. 8 Judgesv’ b. 16 Judges
C. 24 Judges d. 26 Judges
Ref: NR IAS ACADEMY’s Civis and

Economics Pg.57

Slard s o ufllgpeien  FHTauFm &6l glld

alevmigEeenld o 6itenn Heilomisemet Filuwimer eml

auflens

A) sredlwb > epLImST > manLygar <

sriua < odlmeay

maBL T6T < HTeLFWID HITLST < &S eest

< eW[BL_[JEQ60T

C) anue< ouédmar< sre0dwb< epL Feger<

MABL_ TR 60T

D) bl Ima< enaml Fmer < &miuet < sreodluib
< g &Feest

The correct increasing order of elements in all the

living things, both plants and animals is:

A) Calcium < Nitrogen < Hydrogen < Carbon

< Oxygenv’

B) Hydrogen < Calcium < Carbon < Oxygen <

Nitrogen

C) Carbon < Oxgen < Calcium < Nitrogen <

Hydrogen

D) Nitrogen < Hydrogen < Carbon < Calcium <

Oxygen

Ref: NR 1AS ACADEMY’s 8th Science Pg:125

Qb Gummeier Hens 2 KJoBBID SiFHer (PEpSSLD

3 mM/s?, eladled DIHET al0S...............

A) 6 NV B) 12N

C) 18N D) 36N

If the mass of the body is 2 kg and the acceleration

is 3 m/s? then the force is:

B)

A) 6 NV B) 12N

C) 18N D) 36N

Ref: NR IAS ACADEMY’s 10th Science
Pg.229

25°C Qautiumleneouied senydmeier gmiaufang
A) NaBr < NaCl < Nal

B) NaCl < NaBr< Nalv’

C) NaCl < Nal, NaBr

D) NaBr < Nal < NaCl

At 25°C, the increasing order of solubility is:

A) NaBr < NaCl < Nal

B) NaCl < NaBr< Nalv’

C) NaCl < Nal, NaBr

D) NaBr < Nal < NaCl

NR IAS ACADEMY’s Chemistry Volume 1
Pg.30

UBSGD HBeBB LUBened SHIOUTEGID. ..cocvneeenennnes
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146.

147.

A) repY B) &eafl

C) umm D) wymilsnss)
The bird which cannot fly is

A) Emuv B) Parrot

C) Pigeon D) Woodpecker
FewIewITbLS SHevevlesT Geuglll QT

A) sTedAWd el JTHmen(d

B) asmeofwid osbama®

C) amebdwid FeoBur

D) amevdlwid sriuGer v’

The chemical name of lime stone is:

A) Calcium Hydroxide

B) Calcium Oxide

C) Calcium Sulphate

D) Calcium Carbonatev’

Ref: NR IAS ACADEMY’s Chemistry Volume
1, Pg.34

Gougon™ Hevald CTLOUT(RSI HML GLIBBEHI?

A) 9 grewev 1806 B) 10 gmreme 1806V
C) 17 sremev 1806 D) 21 sgeemev 1806
When did the Vellore Mutiny take place?

A) 9" July, 1806 B) 10" July, 1806v
C) 17" July, 1806 D) 21%July, 1806

Ref: NR IAS ACADEMY’s 8th History Pg.103

148.pioens  WLPBID - HUPH  AUBSEHHSG BBl

149.

150.

SIENLOHSHIGNTEN D66V OISHTLIT:

2. BIouibemed b. syreaicvald

c. alpbaw d. ergygny

Tehe hill or range that lies between the Narmada and
Taptiriver:

a. Himalayas b. Aravalli

c. ‘Vindhya d. Satpurav’

Ref: NR IAS ACADEMY’s 10th Geography
Pg.131

UFHFUWISHH0 ST ILGID 2 G60THID. ....rverevernnene SLSLD
A) Fe B) CA

C) Co D) Mgv

The metal presentin chlorophyll is

A) Fe B) CA

C) Co D) Mgv

Ref: NR IAS ACADEMY’s Chemistry Volume
-1 Pg.22

abd Bm Benent alleVT 6TVIDLIH6NT OSHHESHID allevT
GTRVIDLIE6IT 6Td  SIMIPSHBLILIBHSBGI?

A) 7 oppib 8 B) 11 wmmib
C) 9 wBmid 10 D) 5 wpmib 6
Which two pairs of the ribs are called ‘Floating ribs’?
A) 7" and 8" B) 11* and 12*"v

C) 9" and 10" D) 5" and 6™

Ref: NR IAS ACADEMY’s Biology Volume 2,
Pg.95
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